| o ‘ ‘LEWA
Two—Piece Fitting ST I

A
C
//////WWW SW51011
o
GB METRIC STANDPIPE
HOSE BORE DIMENSIONS

PART NO. TUBE O.D. DN DASH A C
SW51011-04-03 4 5 03 27 17
SW51011-06-03 6 5 03 30.5 19
SW51011-06-04 6 6 04 31 19
SW51011-08-04 8 6 04 31 19
SW51011-08-05 8 8 05 31.5 19
SW51011-08-06 8 10 06 31.5 19
SW51011-10-04 10 6 04 35 22
SW51011-10-05 10 8 05 35 22
SW51011-10-06 10 10 06 35 22
SW51011-12-05 12 8 05 35 22
SW51011-12-06 12 10 06 35 22
SW51011-14-06 14 10 06 35 22
SW51011-14-08 14 12 08 35.5 22
SW51011-16-06 16 10 06 35 22
SW51011-16-08 16 12 08 36 22
SW51011-16-10 16 16 10 36.5 22
SW51011-16-12 16 20 12 38 22
SW51011-18-12 18 20 12 41.5 24
SW51011-22-12 22 20 12 45 28
SW51011-28-16 28 25 16 49 30
SW51011-34-20 34 32 20 53 33
SW51011-42-24 42 40 24 57 35
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number isSW51012-xx-xx.

02-90



Two—-Piece Fitting

SW51041

GB METRIC 45° STANDPIPE

HOSE BORE DIMENSIONS
PART NO. TUBE 0O.D. DN DASH A C v
SW51041-06-04 6 6 04 46.6 19 26.6
SW51041-08-04 8 6 04 46.6 19 26.6
SW51041-08-05 8 8 05 48.7 19 25.7
SW51041-10-04 10 6 04 48.7 22 26.6
SW51041-10-06 10 10 06 52.4 22 28.1
SW51041-12-06 12 10 06 52.4 22 28.1
SW51041-14-06 14 10 06 52.4 22 28.1
SW51041-14-08 14 12 08 64.6 22 29.7
SW51041-16-10 16 16 10 75.8 22 31
SW51041-18-12 18 20 12 83.4 24 36
SW51041-22-14 22 22 14 86.7 28 38.3
SW51041-28-16 28 25 16 96.7 30 42.4
SW51041-34-20 34 32 20 109.5 33 47.2
SW51041-42-24 42 40 24 123.3 35 52.6
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is SW51042-xx-xx.

02-91



Two—Piece Fitting

i
Tl | SW51091

4

g

4 GB METRIC 90° STANDPIPE

PART NO. TUBE OD. HOSE BORE DIMENSIONS
DN DASH A C H

SW51091-06-04 6 6 04 30.5 19 42.5
SW51091-06-06 6 10 06 35.3 19 47.8
SW51091-08-04 8 6 04 30 19 42.5
SW51091-08-05 8 8 05 33 19 45.5
SW51091-10-04 10 6 04 30 22 45.5
SW51091-10-06 10 10 06 35.3 22 50.8
SW51091-12-06 12 10 06 35.3 22 50.8
SW51091-12-08 12 12 08 41 22 56
SW51091-14-06 14 10 06 35.3 22 50.8
SW51091-14-08 14 12 08 41 22 56
SW51091-15-10 15 16 10 56.5 26 64.5
SW51091-16-08 16 12 08 41 22 56
SW51091-16-10 16 16 10 56 22 60.5
SW51091-18-10 18 16 10 56.5 24 62.5
SW51091-18-12 18 20 12 64.9 24 72
SW51091-28-16 28 25 16 76.7 30 83.5
SW51091-34-20 34 32 20 91.5 33 97.5
SW51091-42-24 42 40 24 109.4 35 113
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is SW51091-xx-xx.

02-92



. . ( ‘LERA
Two—Piece Fitting s

e SW60011
X
MT STAPLE-LOK MALE
HOSE BORE DIMENSIONS
PART NO DN DASH A @ J K
SW60011-04-04 6 04 31 26 15 11
SW60011-05-05 8 05 33.5 26 18 13
SW60011-06-06 10 06 33 26 18 15
SW60011-08-06 10 06 33.5 26 22 18
SW60011-08-08 12 08 34 26 22 18
SW60011-10-10 16 10 39 30 25 20
SW60011-12-12 20 12 40.5 31 28 24
SW60011-16-14 22 14 41 31 35 30
SW60011-16-16 25 16 42 31 35 30
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW60012-xx-xx.

02-93



Two—Piece Fitting

A
d SW70011
N ﬁ o[
’ H __ ] METRIC BANJO
DIN 7642
HOSE BORE DIMENSIONS

AN oL DN DASH A d D H
SW70011-10-03 M10X1 5 03 14.5 10.1 17 10
SW70011-10-04 M10X1 6 04 17 10.1 17 10
SW70011-12-04 M12X1.5 6 04 20.5 12.1 20 12
SW70011-12-05 M12X1.5 8 05 20.5 12.1 20 12
SW70011-12-06 M12X1.5 10 06 20.5 12.1 20 12
SW70011-14-04 M14X1.5 6 04 19 14.1 24 14
SW70011-14-05 M14X1.5 8 05 19 14.1 24 14
SW70011-14-06 M14X1.5 10 06 21 14.1 24 14
SW70011-16-04 M16X1.5 6 04 20.5 16.1 28 16
SW70011-16-05 M16X1.5 8 05 20.5 16.1 28 16
SW70011-16-06 M16X1.5 10 06 20.5 16.1 28 16
SW70011-18-04 M18X1.5 6 04 23 18.1 32 20
SW70011-18-05 M18X1.5 8 05 24 18.1 32 20
SW70011-18-06 M18X1.5 10 06 24 18.1 32 20
SW70011-18-08 M18X1.5 12 08 24.5 18.1 32 20
SW70011-22-06 M22X1.56 10 06 28.1 221 39 25
SW70011-22-08 M22X1.5 12 08 28.5 22.1 39 25
SW70011-22-10 M22X1.5 16 10 27.5 22.1 39 25
SW70011-26-12 M26X1.5 20 12 33.5 26.2 46 30
SW70011-30-16 M30X1.5 25 16 37 30.2 54 36
SW70011-30-20 M30X1.5 32 20 41 30.1 54 36
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW70012-xx-xx.

02-94



Two—Piece Fitting

Crues

[T R —

C A
- SW700M
o %%*WW
T\ L METRIC BOLT
S_ DIN 7643
|
PART NO THREAD E DIMENSIONS
y A B C S1
SW700M-10 M10X1 19 4 6 17
SW700M-12 M12X1.5 24 6 6 17
SW700M-14 M14X1.5 26 8 7 19
SW700M-16 M16X1.5 28 9 7.5 22
SW700M-18 M18X1.5 32 11 8 24
SW700M-22 M22X1.5 39 14 9 27
SW700M-26 M26X1.5 45 18 10 32
SW700M-30 M30X1.5 51 22 11 38

02-95



S (TyLew
Two—Piece Fitting e

- S SW71011
oo

- (I

JB METRIC BANJO

A
PART NO. BOLT HOSE BORE DIMENSIONS

DN DASH A d D H
SW71011-06-04 MBX1 6 04 16 6 18 12
SW71011-08-04 M8Xx1 6 04 17 8 20 13
SW71011-10-04 M10X1 6 04 19 10 22 13
SW71011-10-05 M10X1 8 05 19 10 22 13
SW71011-10-06 M10X1 10 06 19 10 22 13
SW71011-12-06 M12X1.5 10 06 21 12 26 15
SW71011-14-04 M14X1.5 6 04 20.5 14 28 18
SW71011-14-05 M14X1.5 8 05 21.5 14 28 18
SW71011-14-06 M14X1.5 10 06 21.5 14 28 18
SW71011-14-08 M14X1.5 12 08 22.5 14 28 18
SW71011-16-05 M16X1.5 8 05 22.5 16 32 18
SW71011-16-08 M16X1.5 12 08 25 16 32 18
SW71011-18-06 M18X1.5 10 06 26.5 18 36 22
SW71011-18-08 M18X1.5 12 08 27 18 36 22
SW71011-18-10 M18X1.5 16 10 27.5 18 36 22
SW71011-20-06 M20X1.5 10 06 29.5 20 36 22
SW71011-20-08 M20X1.5 12 08 30 20 36 22
SW71011-22-10 M22X1.5 16 10 30.5 22 46 30
SW71011-22-12 M22X1.5 20 12 31 22 46 30
SW71011-27-10 M27X2 16 10 36.5 27 56 36
SW71011-27-14 M27X2 22 14 36 27 56 36
SW71011-27-16 M27X2 25 16 36 27 56 36
SW71011-33-12 M33X2 20 12 43 33 64 50
SW71011-42-20 M42X2 32 20 54 42 78 64

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW71012-xx-xx.

02-96



| - ‘ ‘LER
Two—Piece Fitting S,

C A
SW710M
/ A VA
7] ol
JB METRIC BOLT
st
DIMENSIONS
P .

ART NO THREAD E A B C 51
SW710M-10 M10X1 25 4 6 17
SW710M-14 M14X1.5 32 8 7 19
SW710M-18 M18X1.5 38 11 8 24
SW710M-22 M22X1.5 48 14 9 30
SW710M-27 M27X2 60 18 10 36
SW710M-33 M33X2 67 22 12 41
SW710M-42 M42X2 85 28 14 55

02-97



Two—Piece Fitting

d
- o
_L ﬂ_ SW72011
e’
| A
o BSP BANJO
PART NO. THREAD E HOSE BORE DIMENSIONS
DN DASH A d D H
SW72011-02-03 G1/8"X28 5 03 18 9.9 24 16
SW72011-02-04 G1/8"X28 6 04 18.5 9.9 24 16
SW72011-04-03 G1/4"X19 5 03 19 13.3 24 15
SW72011-04-04 G1/4"X19 6 04 19.5 13.3 24 15
SW72011-04-05 G1/4"X19 8 05 19 13.3 24 15
SW72011-04-06 G1/4"X19 10 06 19.5 13.3 24 15
SW72011-06-04 G3/8"X19 6 04 22 16.7 29 20
SW72011-06-05 G3/8"X19 8 05 22.5 16.7 29 20
SW72011-06-06 G3/8"X19 10 06 22 16.7 29 20
SW72011-06-08 G3/8"X19 12 08 22.5 16.7 29 20
SW72011-08-05 G1/2"X14 8 05 275 21 38 25
SW72011-08-06 G1/2"X14 10 06 27.5 21 38 25
SW72011-08-08 G1/2"X14 12 08 28 21 38 25
SW72011-08-10 G1/2"X14 16 10 28.5 21 38 25
SW72011-10-10 G5/8"X14 16 10 30 23 40 27
SW72011-12-10 G3/4"X14 16 10 315 | 26.5 48 31
SW72011-12-12 G3/4"X14 20 12 32 26.5 48 31
SW72011-16-08 G1"X11 12 08 40 33.3 60 42
SW72011-16-12 G1"X11 20 12 40 33.3 60 42
SW72011-16-16 G1"X11 25 16 41 33.3 60 42
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW72012-xx-xx.

02-98



Two—Piece Fitting

SN 1%

[T —

C

A

T 7

; S mlw SW720B
S1 B ”
-
pE BSP BOLT
DIMENSIONS
PART NO. THREAD E A B C S1
SW720B-02 G1/8"X28 29.5 4.8 4.8 14
SW720B-04 G1/4"X19 28.5 6 [} 19
SW720B-06 G3/8"X19 38.5 9 7 22
SW720B-08 G1/2"X14 44 13 8.5 27
SW720B-10 G5/8"X14 48.5 15 10 30
SW720B-12 G3/4"X14 56 18 10 32
SW720B-16 G1"X11 68.5 22 13 41

02-99



Two—Piece Fitting W4

L SW87311

ol ] SAE FLANGE 3000 PS!
_[ ISO 12151-3--SAE J516

!

HOSE BORE DIMENSIONS

PART NO. FLANGE SIZE DN DASH A C D 3
SW87311-08-08 1/2" 12 08 46 30.2 24 6.73
SW87311-12-08 3/4" 12 08 47 38.1 31.7 6.73
SW87311-12-10 3/4" 16 10 47.5 38.1 31.7 6.73
SW87311-12-12 3/4" 20 12 48 38.1 31.7 6.73
SW87311-12-16 3/4" 25 16 49 38.1 31.7 6.73
SW87311-16-12 1" 20 12 51 44.4 38 8
SW87311-16-16 1" 25 16 52 44 .4 38 8
SwW87311-16-20 1" 32 20 53 44.4 38 8
SW87311-20-16 1.1/4" 25 16 57 50.8 43 8
SW87311-20-20 1.1/4" 32 20 58 50.8 43 8
SW87311-24-20 1.1/2" 32 20 68 60.3 50 8
SW87311-24-24 1.1/2" 40 24 68 60.3 50 8
SW87311-32-24 2" 40 24 70 71.4 62 9.563
SW87311-32-32 2" 50 32 70 71.4 62 9.53
SW87311-40-40 2.1/2" 64 40 76 84.1 74 9.53
Note: 1,For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87312-xx-xx,

02-100



Two—Piece Fitting

[ pr————

A
\/ Wﬂw
A SWg7331
T X6
O 30° SAE FLANGE 3000 PSI
PART NO FLANGE SIZE HOSE BORE DIMENSIONS
. DN DASH O RING A C D H L
SW87331-08-08 172" 12 08 18.64X3.53 30.2 | 23.9 | 14.7 7
SW87331-12-12 3/4" 20 12 24.99X3.53 38.1 | 31.7 | 18.3 7
SW87331-16-12 1" 20 12 32.92X3.53 44 .4 38 | 183 | 8.2
SWg7331-16-16 1" 25 16 32.92X3.53 44.4 38 | 18.3 | 8.2
SW87331-20-16 1.1/4" 25 16 37.69X3.53 50.8 | 43.2 | 18.3 | 8.2
SW87331-20-20 1.1/4" 32 20 37.69X3.53 50.8 | 43.2 | 205 | 8.2
SW87331-24-20 1.1/2" 32 20 47.22X3.53 60.3 | 50.3 | 23 8.2
SW87331-24-24 1.1/2" 40 24 47.22X3.53 60.3 | 50.3 | 24.8 | 8.2
SW87331-32-32 2" 50 32 56.74X3.53 714 ] 62.2 | 286 | 9.8
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87332-xx-xx.

02-101



| . ( ‘LER
Two—Piece Fitting CrE e

SW87341

45° SAE FLANGE 3000
PSI ISO 12151-3--SAE J516

zo
\/

PART NO. FLANGE SIZE HOSE BORE DIMENSIONS

DN DASH A C D H L
SW87341-08-08 1/2" 12 08 58.2 | 30.2 24 |23.3]6.73
SW87341-12-08 3/4" 12 08 58.9 | 38.1 | 31.7 | 24 | 6.73
SW87341-12-10 3/4" 16 10 69.6 | 38.1 | 31.7 | 25.3 | 6.73
SW87341-12-12 3/4" 20 12 76.3 | 38.1 | 31.7 | 28.9 | 6.73
SW87341-16-12 1" 20 12 76.3 | 44.4 38 | 28.9 8
SW87341-16-16 1" 25 16 83.9 1444 | 38 | 29.7 8
SW87341-16-20 1 32 20 94.5 | 44.4 38 | 33.8 8
SW87341-20-16 1.1/4" 25 16 85.2 | 50.8 43 | 29.7 8
SW87341-20-20 1.1/4" 32 20 94.5 | 50.8 43 | 33.8 8
SW87341-24-20 1.1/2" 32 20 959 | 60.3 | 50 | 35.2 8
SW87341-24-24 1.1/2" 40 24 109.9] 60.3 50 | 391 8
SW87341-32-24 2" 40 24 109.9] 71.4 62 | 39.1 | 9.53
SW87341-32-32 2" 50 32 129.3] 71.4 62 | 46.3 | 9.53
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87342-xx-xx.

02-102



Two—Piece Fitting

SW87361

60° SAE FLANGE 3000 PSI

HOSE BORE DIMENSIONS

PART NO. | FLANGE SIZE DN DASH O RING 5 5 = T
SW87361-08-08 1/2" 12 08 18.64X3.53 30.2 1239|319 7
SW87361-12-08 3/4" 12 08 24.99X3.53 38.1 | 31.7 | 33.6 7
SW87361-12-12 3/4" 20 12 24.99X3.53 38.1 ] 31.7 | 41.4 7
SW87361-12-16 3/4" 25 16 24.99X3.53 38.1 | 31.7 7
SW87361-16-12 14 20 12 32.92X3.53 444 | 38 | 414 ] 8.2
SW87361-16-16 1" 25 16 32.92X3.53 444 | 38 [ 434 8.2
SW87361-16-20 1" 32 20 32.92X3.53 44.4 | 38 8.2
SW87361-20-16 1.1/4" 25 16 37.69X3.53 50.8 | 43.2 | 43.4 | 8.2
SW87361-20-20 1.1/4" 32 20 37.69X3.53 50.8 | 43.2 | 496 | 8.2
SW87361-20-24 1.1/4" 40 24 37.69X3.53 50.8 | 43.2 8.2
SW87361-24-20 1.1/2" 32 20 47.22X3.53 60.3 | 50.3 [ 53.9| 8.2
SW87361-24-24 1.1/2" 40 24 47.22X3.53 60.3 | 50.3 [ 60.7 | 8.2
SW87361-32-24 2" 40 24 56.74X3.53 714 |1 62.2 [ 60.7 | 9.8
SW87361-32-32 2" 50 32 56.74X3.53 714 1622719 9.8
SW87361-40-32 2.1/2" 50 32 69.44X3.53 84.1 1744 9.8
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87362-xx-xx.

02-103



Two—Piece Fitting

62.5° SAE FLANGE 3000 PSI

SW87361(V62.5)

HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH A C D m L
SW87361-12-12(V62.5) 3/4" 20 12 102.2 | 38.1 | 32 | 424 [ 6.73
SW87361-16-16(V62.5) 1" 25 16 105 | 444 | 38 | 44.7 8
SW87361-20-20(v62.5) 1.1/4" 32 20 122.8 | 50.8 | 43 | 51.3
SW87361-24-24(V62.5) 1.1/2" 40 24 146.6 | 60.3 | 50 | 60.4

02-104



| o ( ‘LERA
Two—Piece Fitting B

SW87391

90" SAE FLANGE 3000 PSI
REF.ISO 12151-3 / SAE J516

HOSE BORE DIMENSIONS

PART NO. FLANGE SIZE DN DASH A c D H L
SW87391-08-08 1/2" 12 08 41 1302 24 47 | 6.73
SW87391-12-08 3/4" 12 08 41 | 38.1] 31.7| 48 | 6.73
SW87391-12-10 3/4" 16 10 56 | 38.1]31.7]|525]|6.73
SW87391-12-12 3/4" 20 12 66.2 | 38.1] 31.7]| 62 | 6.73
SW87391-12-16 3/4" 25 16 76.7138.1 [ 31.7| 67.5] 6.73
SW87391-16-12 1" 20 12 65.5|44.4| 38 62 8
SW87391-16-16 1" 25 16 76.7144.4| 38 | 675 8
SW87391-16-20 1" 32 20 91.56| 444 | 38 | 78.5 8
SW87391-20-16 1.1/4" 25 16 76.7 1 50.8 ] 43 | 67.5 8
SW87391-20-20 1.1/4" 32 20 915|508 | 43 | 785 8
SW87391-20-24 1.1/4" 40 24 107 | 50.8 | 43 | 78.5 8
SW87391-24-20 1.1/2" 32 20 91.56[60.3| 50 | 80.5 8
SW87391-24-24 1.1/2" 40 24 109.4]| 60.3 | 50 94 8
SW87391-32-24 2" 40 24 109.4| 714 | 62 94 | 9.53
SW87391-32-32 2" 50 32 131.8] 71.4| 62 |114.3| 9.53
SW87391-40-32 2.1/2" 50 32 131.81 84.1 | 74 1116.3] 9.53

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87392-xx-xx.

02-105



Two—Piece Fitting

SW87391-H
<k
_y 90° SAE FLANGE 3000 PSI
HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE

DN DASH A Cc D H L
SW87391-12-12(H90) 3/4" 20 12 65.5 38.1 32 90 6.73
SW87391-12-12(H100) 3/4" 20 12 66.2 38.1 31.7 100 | 6.73
SW87391-12-12(H127) 3/4" 20 12 66.2 38.1 31.7 127 | 6.73
SW87391-12-12(H150) 3/4" 20 12 66.2 38.1 31.7 150 | 6.73
SW87391-16-16(H100) 1" 25 16 76.7 44.4 38 100 8
SW87391-16-16(H127) 1" 25 16 76.7 44.4 38 127 8
SW87391-16-16(H150) 1" 25 16 76.7 44 .4 38 150 8
SW87391-20-20(H100) 1.1/4" 32 20 91.5 50.8 43 100 8
SW87391-20-20(H127) 1.1/4" 32 20 91.5 50.8 43 127 8
SW87391-20-20(H150) 1.1/4" 32 20 91.5 50.8 43 150 8
SW87391-24-24(H127) 1.1/2" 40 24 109.4 | 60.3 50 127 8

02-106




Two—Piece Fitting LI
A
L SW87611
oll ]g — _ ’ SAE FLANGE 6000 PSI
_L ISO 12151-3--SAE J516
HOSE BORE DIMENSIONS
PART NO. |FLANGE SIZE
DN DASH A C D L
SW87611-08-08 172" 12 08 47 31.7 24 7.75
SW87611-12-10 3/4" 16 10 50.5 | 41.3 32 | 8.76
SW87611-12-12 3/4" 20 12 51 41.3 32 8.76
SW87611-16-12 1" 20 12 56 | 47.6 38 9.53
SW87611-16-16 1" 25 16 57 47.6 38 9.53
SW87611-16-20 1" 32 20 61 47.6 38 | 9.53
SW87611-20-16 1.1/4" 25 16 65 54 44 |10.29
SW87611-20-20 1.1/4" 32 20 66 54 44 [10.29
SW87611-24-20 1.1/2" 32 20 75 63.5 51 | 12.57
SW87611-24-24 1.1/2" 40 24 75 | 63.5 51 |[12.57
SW87611-32-24 2" 40 24 85 79.4 67 | 12.57
SW87611-32-32 gz 50 32 85 79.4 67 | 12.57

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is SW87612-xx-xx.

02-107



. e 'CON ; 13, ]
Two—Piece Fitting S

A .
\, WMLMM
L SW87631
. .
e
o 30° SAE FLANGE 6000 PSI
REF.ISO 12151-3 / SAE J516
PART NO. FLANGE SIZE HOSE BORE O RING DIMENSIONS
DN DASH A C D H L
SW87631-08-08 12" 12 08 18.64X3.53 317 | 238|157 | 7.9
SW87631-12-12 3/4" 20 12 24.99X3.53 413 |1 3171198 | 8.9
SW87631-16-12 1" 20 12 32.92X3.53 47.6 38 9.6
SW87631-16-16 17 25 16 32.92X3.53 476 38 | 20.8 | 96
SW87631-16-20 1" 32 20 32.92X3.53 47.6 38 96
SW87631-20-16 1.1/4" 25 16 37.69X3.53 54 436 104
SW87631-20-20 1.1/4" 32 20 37.69X3.53 54 43.6 | 24 10.4
SW87631-24-20 1.1/72" 32 20 47.22X3.53 63.5 |1 50.8 | 255|127
SW87631-24-24 1.1/12" 40 24 47.22X3.53 635 | 508 | 27.3 |12.7
SW87631-32-24 2" 40 24 56.74X3.53 79.4 | 66.5 | 27.3 | 12.7
SW87631-32-32 22 50 32 56.74X3.53 794 | 66,5 | 31.2 | 12.7

02-108



Crrey

Two-Piece Fitting LI
A
I % '/
< 45° SAE FLANGE 6000 PSI
X/ REF.ISO 12151-3 / SAE J516
PART NO. |FLANGE sIzE HOSE BORE DIMENSIONS

DN DASH A C D H L
SW87641-08-08 1/2" 12 08 5891 31.7| 24 24 7.75
SW87641-08-12 172" 20 12 643|317 24 | 266 | 7.75
SW87641-12-10 3/4" 16 10 725 (413 | 32 | 28.2 | 8.76
SW87641-12-12 3/4" 20 12 792 1413 | 32 | 318 8.76
SW87641-16-16 1" 25 16 889|476 | 38 | 34.7 | 9.53
SW87641-20-20 1.1/4" 32 20 102.3| 54 44 | 41.5 ] 10.29
SW87641-24-20 1.1/2" 32 20 105.8| 63.5| 51 | 45.1 | 12.57
SW87641-24-24 1.1/2" 40 24 119.81 63.5 | 51 49 | 12.57
SW87641-32-24 2" 40 24 125.4| 794 | 67 | 54.7 | 12.57
SW87641-32-32 2" 50 32 144.8| 79.4 | 67 | 61.9 | 12.57

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87642-xx-xx.

02-109



Two—Piece Fitting w.___

P = SW87661

/ ; 60° SAE FLANGE 6000 PSI

&/ REF.ISO 12151-3 / SAE J516

PART NO FLAN HOSE BORE DIMENSIONS
] S DN DASH O RING A C D H L

SW87661-08-08 1/2" 12 08 18.64X3.53 31712398 (336] 7.9
SW87661-12-12 3/4" 20 12 24.99X3.53 4131317 | 44 | 89
SW87661-16-12 1" 20 12 32.92X3.53 476 | 38 9.6
SW87661-16-16 il 25 16 32.92X3.53 476 | 38 |47.7]| 9.6
SW87661-16-20 1" 32 20 32.92X3.53 476 | 38 9.6
SW87661-20-16 1.1/4" 25 16 37.69X3.53 54 | 43.6 10.4
SW87661-20-20 1.1/4" 32 20 37.69X3.53 54 | 43.6 | 55.7] 10.4
SW87661-24-20 1.1/2" 32 20 47.22X3.53 63.5 | 50.8 | 58.3 | 12.7
SW87661-24-24 1.1/2" 40 24 47.22X3.53 63.5 | 50.8 | 65 [ 12.7
SW87661-32-24 2" 40 24 56.74X3.53 794 | 66.5| 65 [ 12.7
SW87661-32-32 2" 50 32 56.74X3.53 79.4 1 66.5| 76.3| 12.7

02-110



Two—Piece Fitting

SW87661 (V62.5)

62.5° SAE FLANGE 6000PSI
REF.ISO 12151-3 / SAE J516

PART NO. ELANGE SIZE HOSE BORE DIMENSIONS
DN DASH A C D H L
SW87661-12-12(V62.5) 3/4" 20 12 93.3 | 413 | 32 46 | 8.76
SW87661-16-16(V/62.5) 1" 25 16 108.3 | 476 | 38 | 50.9 | 9.53
SW87661-20-20(V62.5) 1.1/4" 32 20 127.8 | 54 44 |61.1 110.29
SW87661-24-24(V62.5) 1.1/2" 40 24 153 | 635 | 51 |72.8 |12.57

Note: 1.For use with braided hoses.

2.1f use with spiral hoses, hose fitting series number is SW87662-xx-xx.

02-111



Two—Piece Fitting

A ,
7 =[] T T SW87691
.l/‘
T ! 90° SAE FLANGE 6000 PSI
_ REF.ISO 12151-3/ SAE J516
—tl |
C
PART NO FLANGE SIZE HOSE BORE DIMENSIONS
: DN DASH A © D H L

SW87691-08-08 1/2" 12 08 41 31.7| 24 48 7.75
SW87691-12-10 3/4" 16 10 56 41.3| 32 | 56.5 | 8.76
SW87691-12-12 3/4" 20 12 655 | 41.3| 32 66 8.76
SW87691-16-12 1" 20 12 65.5 | 476 | 38 69 9.53
SW87691-16-16 1" 25 16 76.7 | 476 | 38 74.5 | 9.53
SW87691-16-20 1" 32 20 915 | 476| 38 85.5 | 9.53
SW87691-20-16 1.1/4" 25 16 76.7 54 44 78.5 110.29
SW87691-20-20 1.1/4" 32 20 91.5 54 44 | 89.5 | 10.29
SW87691-24-20 1.1/2" 32 20 915 | 63.5| 51 945 | 12.57
SW87691-24-24 1.1/2" 40 24 109.4 | 63.5| 51 108 | 12.57
SW87691-32-24 2" 40 24 109.4 | 79.4| 67 116 | 12.57
SW87691-32-32 2" 50 32 131.8| 79.4| 67 | 136.3]12.57

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87692-xx-xx.

02-112



S (SN2
Two—Piece Fitting T

A
% SW87691-H
I .

2 90° SAE FLANGE 6000 PSI

=] = REF.ISO 1251-3 / SAE J516

HOSE B DIMENSIONS

PART NO. FLANGE SIZE OSEHORE
DN DASH A C D H L
SW87691-12-12(H100) 3/4" 20 12 65.5 | 41.3 32 100 | 8.76
SW87691-12-12(H127) 3/4" 20 12 65.5 41.3 32 127 | 8.76
SW87691-12-12(H150) 3/4" 20 12 65.5 | 41.3 32 150 | 8.76
SW87691-16-16(H100) 1" 25 16 76.7 | 47.6 38 100 | 9.53
SW87691-16-16(H127) 1" 25 16 76.7 47.6 38 127 | 9.53
SW87691-16-16(H150) 1" 25 16 76.7 | 47.6 38 150 | 9.53
SW87691-20-20(H100) 1.1/4" 32 20 91.5 54 44 100 | 10.29
SW87691-20-20(H127) 1.1/4" 32 20 91.5 54 44 127 [10.29
SW87691-20-20(H150) 1.1/4" 32 20 91.5 54 44 150 |10.29
SW87691-24-24(H100) 1.1/2" 40 24 109.4 | 63.5 51 100 | 12.57
SW87691-24-24(H127) 1.1/2" 40 24 109.4 | 63.5 51 127 |[12.57
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW87X92-xx-xx.

02-113



Two—Piece Fitting

SW88111
JIS FLANGE
PART NO FLANGE SIZE HOSE BORE DIMENSIONS
i DN DASH A C D L
SW88111-10-08 5/8" 12 08 45 34.2 27.8 6.7
SW88111-10-10 5/8" 16 10 45.5 34.2 27.8 6.7
SW88111-10-12 5/8" 20 12 46 34.2 27.8 6.7
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88112-xx-xx.

SW88141

45°JIS FLANGE

PART NO. FLANGE SIZE HOSE BORE DIMENSIONS
DN DASH A C D H L
SwW88141-10-08 5/8" 12 08 59 34.2 27.8 24 6.7
SW88141-10-10 5/8" 16 10 69.6 342 | 278 | 25.3 6.7
SW88141-10-12 5/8" 20 12 77 34.2 27.8 29 6.7
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88142-xx-xx.

SW88191

90°JIS FLANGE

HOSE BORE DIMENSIONS
PART NO. FLANGE SIZE DN DASH A C 5 H L
SW88191-10-08 5/8" 12 08 41 34.2 27.8 48 6.7
SW88191-10-10 5/8" 16 10 56 342 | 27.8 52.5 6.7
SW88191-10-12 5/8" 20 12 66.2 34.2 27.8 62 6.7
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 88192-xx-xx.

02-114




Two—Piece Fitting

B A A A B 4 e A A

J{_}lu SW90011

= L - DOUBLE CONNECTOR
HOSE BORE DIMENSIONS
PART NO. DN DASH L
SW90011-04 6 04 69
SW90011-05 8 05 69
SW90011-06 10 06 73
SwW90011-08 12 08 77
SW90011-10 16 10 83
SW90011-12 20 12 93
SW90011-16 25 16 114
SWa0011-20 32 20 132
SW90011-24 40 24 162
SW90011-32 50 32 170
Note:For wire braid hose.

02-115



Two—Piece Fitting

[Tprr———r—

LAl el sl ol s o s

SW90012

| i DOUBLE CONNECTOR

A HOSE BORE DIMENSIONS

DN DASH L
SWS90012-04 6 04 83
SW90012-05 8 05 87
SW90012-06 10 06 87
SW90012-08 12 08 91
SW90012-10 16 10 97
SW90012-12 20 12 110
SW90012-16 25 16 134
SwW90012-20 32 20 153
SW90012-24 40 24 172
SW90012-32 50 32 178
Note:For sprial hose.

02-116



